
Lecture 16 - July 8

Syntactic Analysis

Comparing Two Versions of CFGs
Witness String of CFG Ambiguity
RE to CFG, DFA to CFG



Announcements/Reminders

• ProgTest result released
• Makeup lecture released
• Project Milestone 2 released





Discussion: Compare Two CFGs

v1

v2



Context-Free Grammar (CFG): Example Version 1
Example: (1 + 2) => (5 / 4)



Context-Free Grammar (CFG): Example Version 1
Example: 3 * 5 + 4





Context-Free Grammar (CFG): Example Version 2
Example: (1 + 2) => (5 / 4)



Context-Free Grammar (CFG): Example Version 2

Q: No semantic analysis at all 
for Version 2 grammar?

Example: (1 + 2) => (5 - (2 + 3))



Context-Free Grammar (CFG): Example Version 2
Example: 3 * 5 + 4



Context-Free Grammar (CFG): from RE (1)

RE CFG



Context-Free Grammar (CFG): from RE (2)

(0 + 1)*1(0+1) (00 + 1)* + (11 + 0)*



Context-Free Grammar (CFG): from DFA


